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They argue regarding the ruling of Rabi Yitzchok — >3927%p prs 52972

OVERVIEW

The X713 concluded that the npY7nn between n"1 and the "N is in a case where the
Y7 was given as a 112wn and they argue whether the rule' of *" that 11own 7P 1"va
applies even to a case where a PR received a 11own» from a 21, Our M>dOIN
explains how the ruling of pnx> '3 applies to our NP2,

nvoIn asks:
- ANy NYVA NOY NON 119WN 2PT 9NP KDY PNYY %29 NN NN0IN

It is astounding! For the ruling of 5" that 1"v2 acquires the 1ow» was only

said if the 1Dwn was given not at the time of the loan -
- (N,29 N8 N33) *PIMINDD NMTS

As is evident in PIRINT DX D1WA P75
- ANIYN NYYA ‘¥nwngT 11 1800 By 59935 MYNY INIYS KN

However here the m1wn stated a »8"2° who lent money to a 1371 ®y 121, which

indicates that the 11own was given at the time of the loan -
- DN Y NOINY 799 MW PaYnD 5Y ymYn SanpT 1pamnna Synwnvs

As it seems from the X773 in 1232877 270 where the mawn stated J2wnm 5» ymss,
the M%7 is a 72w "2w, but the X713 asks we learnt in a Xn»=a that he is a 2w

a1 -
= INNIYN HYVA XYY XN INNITN NYYA 1I9UNT XN IUN)

! See following mooin that the ruling of *"1 that awn 7P 1"va applies to the responsibility of the Mo to the M> to
restore the 110wn to the M7 (if the MY pays). The ™71 is responsible for the 195w»; that means that he owns it. A
measure of defining ownership is who suffers a loss if the item is gone; the one who suffers is considered the owner,
therefore the 7%» who suffers the loss (he must restore the 110wn to the 719), is considered the owner.
A 10wn can be given at the time of the loan in which case the M%7 is merely a D Ww; he is liable only for being
(grossly) negligent in watching the 712wn; however he is exempt from paying if the 712wn was lost or stolen.
However, if the due date of the loan came and the m> did not pay, the 195wn that is taken then, is called X>w 115wn
TRY27 NYWw3, it is in this case where "1 ruled that the n"va is 19wn 7P, meaning that he is liable even for 77°2K1 7271
(see footnote # 1 and shortly in this n190IN). One of the reasons for this distinction is that a XY nyw2 1w is taken
only for a reminder (to the m>n) that he is owed money and so that the m? cannot deny the loan. However a 11own
TRI?7 NYwa XOW is taken as a means of payment (with the m? having the option of redeeming the 115wn by paying the
loan [within a certain period of time]). Therefore since it is taken as a payment it ‘belongs’ to the m172.
? The X 3 there states; TR 1 INRIZT NYW2 1OWR LIR INRI9T DYWA KOW 1OwWn3 PIYY ' ART 719K RN200.
* The words ... 9y m»7; indicate that the 119wW» was taken X127 Vw3a; see immediately in this mson.
> moon cites this following X723 on 2,89 (just) to prove that the phrase 12w v M7 refers to AN NYW3 1WA,
® 7wn there on 2,0,
T A v mw (a paid custodian) is 217 even for 77°2X1 72°1 (stolen or lost), while a 2117 % (an unpaid custodian) is
21 only for 7v'wo ([gross] negligence).
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And the X ) answered that there is no contradiction, this Xn>22 which states that
he is a 1"¥ is in a case where R nYwa nuow» and the 71w» which states that he

is a W"Ww is in a case where AR DY KPR 1OWH -
- 55305 199UNA HY SRY SN KDY 70999

However the X773 challenges this distinction, ‘but both here and there it states

MW DY 195, which means WX nvwa so how can you say that the 71wn is in a case of
INXRY?T NYwa Xow 11own. This concludes the citation of the & 3. It is evident from that X3, that
our Xn>12 (and our 73wn) of 1AM ¥ 1M1 is also in a case of MRV NYwa 10wn where the rule of
Pnx> " does not apply; how can we say that they argue in prix> " who is discussing a case of
NRIPI YW ROW 10wH exclusively?!

N1B0IN answers:
- DRSS 53973 Y NP NNXITA NYWA RIWT 1193 1WIT39 5907 9115 YW

And one can say; that this is the explanation why even though it is a nywa 11own
X127 (and °" said his rule that nown anp 0"va only if it was XY nywa XOW),
nevertheless he will be 721w on °"21 *"3, for since by 7RW7 nywa KXY the Mon

acquires the 10wn completely, as ''9 ruled (that he is liable even for 77281 72°33) -
- 9Y NI IIIND 1AWINY 1Y WO NN PIvY )9 DN

Therefore regarding the 70°X of °"21 "2 by y»n we should consider it as if the

y11 belongs to the mn, to the extent -
- %5981 199 19393WNT NNIYH DYV 9N YD NY3 Nayy

That he should transgress the X7 of Xx»> X? even if the 1OwWn was given nywa
X957, for the 11own is considered 2% (found) in the mwA of the 7von —

mooin offers a similar example:

8 See *"wA there v 7"7 X,25 who writes; yawn X127 NYw2 ,110WnT 9y,
? Even though he is not 21 for 7728 72°33 (so it is not really his), nevertheless it is sufficiently his to be 12w on "2
M,
' The general thrust of 901N answer may be that without " there is seemingly no 137 for the 779 in this Nown, it
does not belong to him at all. However once >"1 teaches us that there is a 1°Ip by a 119wn (granted NX1277 NYW2 K2W) to
the extent that he is liable to pay for its loss (which is a sign of ownership) so even though that by X177 nywa 15wn
the responsibility of the m>n is less, nevertheless there must be some limited ownership to the extent that it cannot
be considered 21X W which exempts him from "3, but rather the m%n is considered to have a sufficient interest in
this ynan to be 12 on *"2. See ywy1 °10 here. [It should be noted that the two rules by X177 nywa K7W 15w~ that the
n"va is AN the 11OWn, and he is MN1INR2 271, the cause for the latter (1N1NR2 2°n) is the former (112w» 712). [See 127
SR in the next A1Pw 73"7 '010 and X"0 ¥an B0 1"A7R ¥"w.] He is nnp the 1own since he has an interest in it; he is
taking it (as a security) for his payment. Therefore it is considered his (meaning that he (somehow) received
payment) and therefore if it is lost, it is his loss. Similarly X771 nywa Nwn is also in the interest of the m%n (it is to
protect his loan [see footnote # 2]), therefore even though he is 72°13n 709, it is still considered partially his. This is
different from a 017 W who has no interest at all in guarding the animal.]
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- Zonys 53971 Monwn 199X PaUND 5 11991 533 o, posy NIYHA YIDY Y 1)
And so too we can explain what is taught in 7?17 P75 regarding one who lends
money for a J12w» (7127 nyw2) the rule is that 70w does not relinquish this loan
because of the ruling of 3'""9; there too we can offer the same reasoning, that -
17193 PPAR YV 5995 523 ANITN NYWA ANITN NYWA XYY 195 29041 s
Since the m>» acquires the Nown» when it was given 78127 nywa XYW, therefore
even if it was given Y277 7ywa it is considered 7772 7NN bw.

SUMMARY

Once we know that a n'"va is 73 a a0 nywa XHw Nown completely, therefore
even X127 n¥w2 he has sufficient ownership in the 170wn that he is 92 on *"2 and
that N°¥°2W is not NLAYN.

THINKING IT OVER

The X3 stated that if a 721 lent money to a %W for his y»n, all agree that he is
72w since a *M21 is not P a PRI Nown. However according to mooin that we are
discussing a nXY?71 nywa Nown where the M7 is not really 71y the 11own (but rather
we consider it his (only) regarding >"32), it is understood that the 15wn (which does
not belong to the M) belongs to the M?; so why was it necessary for the X713 to
say that a *3p X% PXw°n "3, even if a *121 is YR °1p, but it is a minimal PIp at
best and truthfully it still belongs to the m% (who is a PX7°), and therefore ¥">
maintain that he is 22w?!"*

" 7vmw in this case does not exempt the M from his obligation to pay the m»n (for it is as if the M2 has the
payment in his ‘hand’ already [since he is holding the 11own]).
12 The 77N writes regarding n°y 2w (in 3,70 [7X1] 2°127) that 7> vAwN AR DR T2 77 WK NXY. That you have to
relinquish a loan that is 71X 5w, but not a loan that is 77°2 °nX %w; meaning that if the (payment of the) loan is
already in the hands of the m%» [if for instance the mM>n has a (X127 NYW2 RYW) 115Wn, so that it ‘belongs’ to the 7171,
he is no longer taking money from i (the m?) since it is already 77°2 (in the hand of the m>n)].
"> What needs explaining is that a 19w belongs to the M only if it is 7X177 NYWa X9w 1wn; however from the X3
in W it appears that even by 18?7 nywa 1own (where the rule of "1 does not apply), nevertheless v nw is not
vnwn this loan. M50IN continues to explain.
¥ See wn TN,
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